
�̇�1 = (0,0036𝑧1
2 + 0.3528𝑧2𝑧4 + 0.3528𝑧3𝑧7) + 1.34𝑧1 + 1.34𝑧1  

�̇�2 = (0,0036𝑧1𝑧2 + 0.3528𝑧2𝑧5 + 0.3528𝑧3𝑧8) + 1.34𝑧2 + 11.11𝑧2  

�̇�3 = (0,0036𝑧1𝑧3 + 0.3528𝑧2𝑧6 + 0.3528𝑧3𝑧9) + 1.34𝑧3 + 11.11𝑧3  

�̇�4 = (0,0036𝑧2𝑧4 + 0.3528𝑧5
2 + 0.3528𝑧6𝑧8) + 11.11𝑧5 + 11.11𝑧5  

�̇�5 = (0,0036𝑧4𝑧3 + 0.3528𝑧5𝑧6 + 0.3528𝑧6𝑧9) + 11.11𝑧6 + 11.11𝑧6  

�̇�6 = (0,0036𝑧3𝑧7 + 0.3528𝑧6𝑧8 + 0.3528𝑧9
2) + 11.11𝑧9 + 11.11𝑧9  

 

 

𝜀𝑧1̇ = −𝑥1 + (0,0036𝑧1𝑘1 + 0,3528𝑧2𝑘2 + 0,3528𝑧3𝑘3) + 0 + 1,34𝑘1 

𝜀𝑧2̇ = −𝑥2 + (0,0036𝑧1𝑘2 + 0,3528𝑧2𝑘4 + 0,3528𝑧3𝑘5) + 2,65𝑧2 + 1,34𝑘2 

𝜀𝑧3̇ = −𝑥3 + (0,0036𝑧1𝑘3 + 0,3528𝑧2𝑘5 + 0,3528𝑧3𝑘6) + 2,65𝑧3 + 11,11𝑘3 

𝜀𝑧4̇ = −𝑥2 + (0,0036𝑧4𝑘1 + 0,3528𝑧5𝑘2 + 0,3528𝑧6𝑘3) + 0 + 1,34𝑘2 

𝜀𝑧5̇ = −𝑥4 + (0,0036𝑧4𝑘2 + 0,3528𝑧5𝑘4 + 0,3528𝑧6𝑘5) + 2,65𝑧5 + 11,11𝑘4 

𝜀𝑧6̇ = −𝑥5 + (0,0036𝑧4𝑘3 + 0,3528𝑧5𝑘5 + 0,3528𝑧6𝑘6) + 2,65𝑧6 + 11,11𝑘5 

𝜀𝑧7̇ = −𝑥3 + (0,0036𝑧7𝑘1 + 0,3528𝑧8𝑘2 + 0,3528𝑧9𝑘3) + 0 + 1,34𝑘3 

𝜀𝑧8̇ = −𝑥5 + (0,0036𝑧7𝑘2 + 0,3528𝑧8𝑘4 + 0,3528𝑧9𝑘5) + 2,65𝑧8 + 11,11𝑘5 

𝜀𝑧9̇ = −𝑥6 + (0,0036𝑧7𝑘3 + 0,3528𝑧8𝑘5 + 0,3528𝑧9𝑘6) + 2,65𝑧9 + 11,11𝑘6 

 

 

𝜀𝑘1̇ + 𝜀745,35 = −𝜀2𝑧1 + (0,0036𝑘1
2 + 0,3528𝑘2

2 + 0,3528𝑘3
2) + 0 + 0 

𝜀𝑘2̇ + 0 = −𝜀(𝑧4 + 𝑧2) + (0,0036𝑘1𝑘2 + 0,3528𝑘2𝑘4 + 0,3528𝑘3𝑘5) + 2,65𝑘2 + 2,65𝑘2 

𝜀𝑘3̇ + 0 = −𝜀(𝑧7 + 𝑧3) + (0,0036𝑘1𝑘3 + 0,3528𝑘2𝑘5 + 0,3528𝑘3𝑘6) + 2,65𝑘3 + 2,65𝑘3 

𝜀𝑘4̇ + 𝜀62,99 = −𝜀𝑧5 + (0,0036𝑘2
2 + 0,3528𝑘4

2 + 0,3528𝑘5
2) + 2,65𝑘4 + 2,65𝑘4 

𝜀𝑘5̇ + 0 = −𝜀(𝑧8 + 𝑧6) + (0,0036𝑘2𝑘3 + 0,3528𝑘4𝑘5 + 0,3528𝑘5𝑘6) + 2,65𝑘5 + 2,65𝑘5 

𝜀𝑘6̇ + 𝜀62,99 = −𝜀(2𝑧9) + (0,0036𝑘3
2 + 0,3528𝑘5

2 + 0,3528𝑘6
2) + 2,65𝑘6 + 2,65𝑘6 

  



 


